

$$(g_n^m = a, \overline{h} - 1)$$

70

9

me

$$\log \frac{1}{r}$$

(15 K)

1

(-)

$$a_1! - n - 5 y_0 \rightarrow (n-5)(n+1) y_0$$

$$\begin{array}{r} -1 \quad \quad 2 \\ \hline + \quad x \quad - \quad x \quad + \end{array}$$

$$x^5 - 1 = 0 \rightarrow \begin{array}{c} -1 \quad 1 \\ + \quad - \quad + \end{array}$$

$$V_f(-\infty, -1) \cup (r_2, +\infty)$$

$$\log_a a + \log_a \sqrt{n} = 1 \quad n = 9 \text{ 2 a mes}$$

$$\frac{1}{\log a} = \frac{1}{\log \sqrt{a}} \Rightarrow r \log a + \frac{1}{r \log a} = r \rightarrow r t + \frac{1}{r t} = 1 \rightarrow$$

$$\varepsilon + r - rt + 1 = 0 \rightarrow (rt - 1)^r \rightarrow t = \frac{1}{r} \rightarrow \log_a = \frac{1}{r} \rightarrow a = r$$

$(\log 5 - \log 3) n^r + (\log 3 + \log 3) n - (\log 5 + \log 3)$

$$\log \frac{I_0}{I} = \frac{(1 - \log r)}{1 - 0.15} = (0.15) \rightarrow (0.15 - 0.18) n^r + 0.11 n = (0.15 + 0.18) \rightarrow \frac{r}{1.0} n^r + \frac{1}{1.0} n = 1.1$$

$$\vec{r}_m \cdot \vec{r}_m - 11 = 0 \rightarrow \frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{48 - f(-11)}}{1} = \frac{\sqrt{194}}{1} = \left(\frac{14}{1} \right)$$

$$\log_{12}^{10} = \frac{1}{\log_{10}^{12}} = \frac{1}{(\log_{10}^V + \log_{10}^r)}$$

$$\frac{\log 10^V}{\log 10^r} = r, 1 \rightarrow \frac{\log V}{\frac{1}{r}} = r, 1 \rightarrow \log V = \frac{1}{15} \log \frac{10^r}{10^5} = \frac{1}{r} \rightarrow \log r = \log 5$$

$$\frac{1}{\frac{12}{10} + \frac{1}{10}} = \frac{1}{\frac{13}{10}} = \frac{10}{13} \rightarrow \log r = \frac{1}{r} \quad r = 10 \log \omega \rightarrow \log \omega = \frac{r}{10}$$

$$\frac{\log a}{\log p} = \frac{1}{r}$$

$$e \log_4 10$$

$$\leftarrow \log_{\frac{1}{5}} 3 = 1,9$$

$$\log_{\mu} \omega = 1, \omega - 4$$

$$1,4 \log r = \log r \xrightarrow{\times r} 1,4 \log r = r - r \cdot g \rightarrow 1,4 \log r = r \rightarrow \log r = \left(\frac{1}{1,4} \right)$$

$$P_{H_2} (1 - \log) = 1 \log$$

$$\log_{10} 9 = \frac{\log 9}{\log 10} = \frac{\log 1 + \log 9}{\log 10 + \log 9} \rightarrow \frac{\log 1 + 1.4 \log 9}{1 - \log 1 + 1.4 \log 9} \rightarrow \frac{1.4 \log 9}{1 + 1.4 \log 9} \approx \frac{1.4 \times 0.9542}{1 + 1.4 \times 0.9542} = \frac{1.3359}{2.1359} \approx 0.6255$$

$$\frac{\frac{1^2}{1V}}{1 + \frac{1^2}{1V}} = \frac{1^2}{10}$$

$$\frac{1}{r} \log^{\wedge}_r \rightarrow \frac{\log^{\wedge}_r + \log^{\wedge}_r + \log^{\wedge}_r}{\log^{\wedge}_r} = r_m \rightarrow \frac{\log^{\wedge}_r}{\log^{\wedge}_r} + 1 = r_m \rightarrow \frac{\log^{\wedge}_r}{\log^{\wedge}_r} = \frac{r_m - 1}{r}$$

$$\frac{\log r + \log r + \log r}{r(\log r)} \rightarrow \underbrace{\frac{1}{r} + \frac{1}{r} + \frac{\log r}{r(\log r)}}_1 \rightarrow \frac{r_{m-1}}{\varepsilon} + 1 = \frac{r_m + r}{\varepsilon}$$

$$r_n^r = -(r_{n-1}) \rightarrow r_n^r + r_{n-1} = 0 \quad \log \quad (4n+1) \quad \underbrace{\left(\frac{r}{10}\right)^{r_{n-1}}}_{\left(\frac{r}{\omega}\right)^{r_{n-1}}} = \left(\frac{17\omega}{1}\right)^{r_n} \quad \omega^r - 11$$

$$\hookrightarrow \left(\frac{1}{r}\right) \rightarrow \log\left(\frac{1}{c}\right) + 1 = \log_e = \frac{r}{c} \log_r \rightarrow \left(\frac{r}{\mu}\right)$$

$\log_r b = \frac{r}{r} (1+a) \log_r r = a \sqrt[r]{r} - 1$
 $\frac{1}{r} \log_r b = \frac{r}{r} (1+a) \rightarrow \log_r b = (\log_r r + \log_r r) \rightarrow \log_r b = r \log_r r = \log_r r^r$
 $b = r^r \rightarrow \log_{r^r} r^r = r$

[illegible]

$$\frac{b+c}{r} = a \rightarrow b+c = \frac{p}{r} \log_{10} \epsilon$$

$$\left(r \frac{1}{\lambda}\right)^{-\log_{10} \frac{a}{r}} \rightarrow r \frac{1}{\lambda} \log_{10} r \rightarrow \frac{1}{\lambda} \log_{10} r$$

$$b+c = b \log_{10} r \rightarrow b(1 - \log_{10} r) \rightarrow b - b \log_{10} r \rightarrow c = -b \log_{10} r \rightarrow \frac{c}{a} = \frac{-b \log_{10} r}{\frac{p}{r} \log_{10} \epsilon}$$

$$\left(r \frac{1}{\lambda}\right)^{\frac{c}{a}} = \left(r \frac{1}{\lambda}\right)^{\frac{-b \log_{10} r}{\frac{p}{r} \log_{10} \epsilon}}$$